a(6 @) (rad)
5

=
<
N

1073

107

103

10

Ratl

0.95!

RO SCERRRR SR § |1 01 SRR NS
3 2 -1 0

1 2

3

TP n (PCA to beamline)

a(d cot(B))

10

Ratl

H
S
L

1072

1073

1074

100

iy

0.95!

T

1 2

3

TP n (PCA to beamline)

—=— DQM_TT_original_time

—— DQM_TT_modified_time

aoa, ) (cm)

1072

1073

.......................

.......................

-
e
-

................

................

[y

0.95

W

2

3

TP n (PCA to beamline)

10

................

W

? ? |
| A |
151 I I
0 T 2

3

TP n (PCA to beamline)

(o d) (cm)
S

1072

1073

iy

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


